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Using the results, the probability is…

57/1000 x100= 5.7% chance of winning

Theoretically, the probability is…
3       2       1          6
     x       x      =             = 0.05= 5%
6       5       4        120
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Using the results, the probability is…
87/1000= 0.087 x 100= 8.7%

Theoretically, the probability is…

2     1    2

   x    =     = 0.0666…= 6.666…%

6    5    30

This makes your chances lightly higher. 

The probability for a one ball ticket is…

1
    = 0.1666… = 16.666…%

6

The probability is a lot higher. 

The probability for five balls is…

5     4      3     2    1      120
    x     x     x    x      =         = 0.1666…= 16.666…%
6     5      4     3    2      720
The probability is high and the same as for one ball. 

The lowest probability for a ten ball draw is 5…
5      4   3    2    1      120
    x   x     x    x    =            = 0.003968= 0.3968%
10    9   8    7    6     30240
The probability for winning the National Lottery is…

1      1     1      1      1      1
    x    x        x      x      x      =0.00000000007225=  0.000000007225%​​​​​​​​​​​​​​​​​​​​​​​​​​​
49   49   49    49    49    49
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